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Y10 Takoe
CKOpPOCTb
coOnmxerHunna ?

PaccTtosiHme, Ha
KOoTopoe

OTAANATCA 06bEKTbI

33 €ANHWULYY BPEMEHM.




Y10 Takoe

CKOpPOCTb
conmxeHunn ?




),

OJJHOBPEMEHHO /1Ba
KaTepa
N BCTPETUINCH Yepe3
2 yaca. Hangu
pPacCTosiHNE
MeXAay CTaHUUSIMK,

ecnum ckopocTtb I -20




OJJHOBPEMEHHO /1Ba
KaTepa
N BCTPETUINCH Yepe3
2 yaca. Hangu

paccTosiHue
MeXxAy CTaHUMAMN,
ecnum ckopocTtb I -20




Kak HauTm
BpeMs
aABMKXeHua?




Kak HauTm
BpeMs
aABMKXeHua?
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YTOo Takoe
CKOpPOCTb
vaaneHus ?

PaccTtosiHme, Ha
KOoTopoe

OTAANATCA 06bEKTbI

33 €ANHWULYY BPEMEHM.




YTo Takoe
CKOpPOCTb
vaaneHusa ?

PACCTOSIHNE, HA KOTOPOE
OTAANSATCA 06bEKTbI

d €ANHNLUY BPEMEHMWN.




Kak Hautvm

paccTosiHue
Mexay obbekTtammu
npyu BCTPEYHOM
OBWMXEHUn?




Kak HauTtum

paccTosiHue
MeXxay obbvekTaMm
npu BCTPE4YHOM
ABMKEeHun?




UTtO 1 TaKoro,

yero ?

—Yro 6bIN10

= Ha ypoke?

£ Y710 6bINIO
Ha ypoke?
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